10.1 Area and Law of
Sines



Find each missing part of the triangle (sides and angles): SOt CAY TOA




C. Find the area of the triangle: b h
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Consider the following triangle:
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If you know angle A, can you find the height

of the triangle? |
N=C-sinA




Area of Triangle: B
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Where A is the included angle of 2 consecutive l)
sides, b, and c.
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area of each triangle. State if there is not enough information
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G. Jaronis building a triangular garden in his

C yard. Each side of the triangle is the
N same. If the amount of fence he uses on
14 .cm the garden is 36 feet, find the area of the
garden he is building‘ . G
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***The Law of Sines ONLY works when:
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. Find AC.
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J. Find m«B.

K. Find mzB. @t Sin ontoe)
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L. Find AB. M. Find mZA.




